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(a) Organic compounds always contain carbon and hydrogen, and may contain other elements as well
Inorganic compounds are not biological in origin; they may or may not contain carbon, and they are generally
of mineral origin. (b) Semple answer: Sugars and proteins are examples of organic compounds. Salt and water
are examples of inorganic compounds.

Carbon dioxide is not organic because it does not contain hydrogen.

c

(a) inorganic

(b) organic

(e) organic

(d) inorganic

(a) photosynthesis

(b) cellular respiration

(¢) These two processes provide the energy and materials required by nearly all life on Earth.

() The mint plants wilted because they used up all the available carbon dioxide in the chamber and could no
longer photosynthesize.

{b) The plant provided oxygen for the mouse to breathe.

I Priestley’s first experiment, photosynthesis provided oxygen for the candle to bumn. In his second

experiment, photosynthesis provided oxygen for the mouse to breathe, while cellular respiration by the mouse

provided enough carbon dioxide for the plant to use in photosynthesis. The plant by itself did not produce

enough carbon dioxide through its own process of cellular respiration to support photosynthesis. The mouse

by itself quickly used up all the available oxygen
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8. Carbon, hydrogen, oxygen, and nitrogen are four nutrients necessary for lfe.

9. The fossils are inorganic matter. The fossils formed when minerals, which are inorganic, replaced the tissues
of the dead organisms.

10. (a) oxygen
(b) carbon dioxide
(e) photosynthesis
(d) cellular respiration




